Equal 9 step grey scaling betweeb* gsn=—34 & L*gaw=34.1, Ygret=2, normalisation white W

L*0aN=—34.0,L%0au=0.0,L*0aw~34.1,Y0an=6.7, Y0al720.0,Y0aw=60.0,Coay=Yoaw: Yoan=9.0
L*taN==26.9,L*tay=1.9, L*tan~34.1, Ytan=8.4, Yay=21.3, Y1an~60.0,Cray=Ytaw: Yian=7.1
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 AL* min] / [AL* max], L* TuBLOG,Ua = 50/ Iog(5) [log (Y/Yy) ] with Y,=20

Yoaw™* Yoref

g*%= 100, g’y= 100 0%= 84, g%=8 g%= 98, g%9= 95
L*TuBLOG,Ua intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 107 *a Al*la
50+ :
(D9 341 10 600 10 D341 . 1.0 600 1.0 34.1 .
251 8 256 0875 456 073 259 8'1 0.865 46.0  0.874 26.4 7'7
7 171 075 346 0524 17.8 8'0 0733 355  0.748 187 7'7
6 85 0625 263 0368 98 _ 0.602 27.4  0.623 1.1
; 7.8 7.6
o+@s5 00 05 200 025 19 0.473 213  0.498 35
! 7.6 7.6
@®: -84 0375 152 016 -56 4 0.348 16.6  0.374 -4.0 5
@: 170 025 115 0.091-13.0 7'1 0.227 131  0.251 -11.5 7'5
-25+ @2 -255 0125 88 0.030-20.1 '8 0.111 104  0.128 -19.0 7'8
@: 34000 67 00:-269 00 84 0.0 -26.9
50~ 3 YoartY,
AL*(,=8.5 (=1.2,...,8) | normalisation: Yiajw= YOaWM
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